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= : : : ; :

0. | EERR EERE LT PP

c . . . . . T o

go
A " T1 % i ="
L ! ! ——
1 ; LT 110 - -

. HH{HH- H-H .

0.9H---t---FH tEtE - teeen
058 i

"0 5 10 15 20 25 30 35 40
TP hits

Ratio

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

I Efficienc| —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

0.05
[
.045
20.04
o
9.035
ks)
£0.03
[}
0.025F
0.02
0.015,
0.01
0.005,

0
1

Ratio

0.9

0.

0 5 10 15 20 25
TP layers

Efficiency vs pixel layer
0.1

0 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0 0.05
o
D.045
S0.04
w
g.oss
§0.03]
Qo
£.025
0.02
0.015
0.0}
0.005

bbb

1

Ratio

1

0.9F1{-:-

0'”() 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


